This report contains the transfers results.

4,956

992

Contest Name

Ward 7 - Coatbridge North

Valid Votes

Positions to be Filled

Quota

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Leo Francis LANAHAN	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	79
Kirsten LARSON	Scottish National Party (SNP)	1,545
Julie Patricia MCANULTY	Independence for Scotland Party	129
Jeff MCDONALD	Social Democratic Party	172
Alexander MCVEY	Scottish Labour Party	1,017
BILL SHIELDS	Scottish Labour Party	663
MARK SHIELDS	Alba Party for independence	123
Allan STUBBS	Scottish National Party (SNP)	749
Craig WHITESIDE	Scottish Conservative and Unionist	479
	Total	4,956

Candidate Kirsten LARSON Elected with 1,545 votes, being in excess of the quota of 992 Candidate Alexander MCVEY Elected with 1,017 votes, being in excess of the quota of 992

This report contains the transfers results.

Stage 2 - Surplus of Kirsten LARSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Leo Francis LANAHAN	16	0.35792	5.72672
Transfer to Julie Patricia MCANULTY	50	0.35792	17.89600
Transfer to Jeff MCDONALD	20	0.35792	7.15840
Transfer to BILL SHIELDS	78	0.35792	27.91776
Transfer to MARK SHIELDS	35	0.35792	12.52720
Transfer to Allan STUBBS	1,251	0.35792	447.75792
Transfer to Craig WHITESIDE	7	0.35792	2.50544
No further preference	88	0.35792	31.49696
Not transferred due to rounding			0.01360
	Total		553.00000

This report contains the transfers results.

Stage 3 - Surplus of Allan STUBBS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Leo Francis LANAHAN	19	0.17109	3.25071
Transfer to Julie Patricia MCANULTY	132	0.17109	22.58388
Transfer to Jeff MCDONALD	9	0.17109	1.53981
Transfer to BILL SHIELDS	124	0.17109	21.21516
Transfer to MARK SHIELDS	98	0.17109	16.76682
Transfer to Craig WHITESIDE	9	0.17109	1.53981
Transfer to Leo Francis LANAHAN	38	0.06123	2.32674
Transfer to Julie Patricia MCANULTY	176	0.06123	10.77648
Transfer to Jeff MCDONALD	32	0.06123	1.95936
Transfer to BILL SHIELDS	231	0.06123	14.14413
Transfer to MARK SHIELDS	168	0.06123	10.28664
Transfer to Craig WHITESIDE	14	0.06123	0.85722
No further preference	358	0.17109	61.25022
No further preference	592	0.06123	36.24816
Not transferred due to rounding			0.01278
	Total		204.75792

This report contains the transfers results.

Stage 4 - Surplus of Alexander MCVEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to BILL SHIELDS	862	0.02458	21.18796
No further preference	95	0.02458	2.33510
Not transferred due to rounding			0.00214
	Total		25.00000

This report contains the transfers results.

Stage 5 - Exclusion of Leo Francis LANAHAN

90.59913

Stage of Excitation of Eco Francis Extra 17 to			00.00010
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Julie Patricia MCANULTY	25	1.00000	25.00000
Transfer to Jeff MCDONALD	8	1.00000	8.00000
Transfer to BILL SHIELDS	14	1.00000	14.00000
Transfer to MARK SHIELDS	6	1.00000	6.00000
Transfer to Craig WHITESIDE	6	1.00000	6.00000
Transfer to Julie Patricia MCANULTY	4	0.35792	1.43168
Transfer to BILL SHIELDS	1	0.35792	0.35792
Transfer to MARK SHIELDS	1	0.35792	0.35792
Transfer to Julie Patricia MCANULTY	5	0.17109	0.85545
Transfer to Jeff MCDONALD	4	0.17109	0.68436
Transfer to BILL SHIELDS	1	0.17109	0.17109
Transfer to MARK SHIELDS	1	0.17109	0.17109
Transfer to Julie Patricia MCANULTY	7	0.06123	0.42861
Transfer to Jeff MCDONALD	1	0.06123	0.06123
Transfer to BILL SHIELDS	1	0.06123	0.06123
Transfer to MARK SHIELDS	2	0.06123	0.12246
Transfer to Julie Patricia MCANULTY	1	0.02458	0.02458
Transfer to BILL SHIELDS	5	0.02458	0.12290
Transfer to MARK SHIELDS	1	0.02458	0.02458
Transfer to Craig WHITESIDE	2	0.02458	0.04916
No further preference	20	1.00000	20.00000
No further preference	10	0.35792	3.57920
No further preference	8	0.17109	1.36872
No further preference	27	0.06123	1.65321
No further preference	3	0.02458	0.07374
Not transferred due to rounding			0.00000
	Total		90.59913

This report contains the transfers results.

Stage 6 - Exclusion of MARK SHIELDS

169.40419

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Julie Patricia MCANULTY	46	1.00000	46.00000
Transfer to Jeff MCDONALD	10	1.00000	10.00000
Transfer to BILL SHIELDS	21	1.00000	21.00000
Transfer to Craig WHITESIDE	6	1.00000	6.00000
Transfer to Julie Patricia MCANULTY	10	0.35792	3.57920
Transfer to BILL SHIELDS	1	0.35792	0.35792
Transfer to Julie Patricia MCANULTY	50	0.17109	8.55450
Transfer to Jeff MCDONALD	3	0.17109	0.51327
Transfer to BILL SHIELDS	6	0.17109	1.02654
Transfer to Craig WHITESIDE	1	0.17109	0.17109
Transfer to Julie Patricia MCANULTY	78	0.06123	4.77594
Transfer to Jeff MCDONALD	4	0.06123	0.24492
Transfer to BILL SHIELDS	9	0.06123	0.55107
Transfer to Craig WHITESIDE	2	0.06123	0.12246
Transfer to BILL SHIELDS	1	0.02458	0.02458
Transfer to Craig WHITESIDE	1	0.02458	0.02458
No further preference	46	1.00000	46.00000
No further preference	25	0.35792	8.94800
No further preference	39	0.17109	6.67251
No further preference	77	0.06123	4.71471
No further preference	5	0.02458	0.12290
Not transferred due to rounding			0.00000

Total 169.40419

This report contains the transfers results.

Stage 7 - Exclusion of Jeff MCDONALD

202.43173

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Julie Patricia MCANULTY	12	1.00000	12.00000
Transfer to BILL SHIELDS	44	1.00000	44.00000
Transfer to Craig WHITESIDE	49	1.00000	49.00000
Transfer to Julie Patricia MCANULTY	2	0.35792	0.71584
Transfer to BILL SHIELDS	4	0.35792	1.43168
Transfer to Julie Patricia MCANULTY	4	0.17109	0.68436
Transfer to BILL SHIELDS	4	0.17109	0.68436
Transfer to Craig WHITESIDE	1	0.17109	0.17109
Transfer to Julie Patricia MCANULTY	15	0.06123	0.91845
Transfer to BILL SHIELDS	3	0.06123	0.18369
Transfer to Craig WHITESIDE	2	0.06123	0.12246
Transfer to Julie Patricia MCANULTY	1	0.02458	0.02458
Transfer to BILL SHIELDS	5	0.02458	0.12290
Transfer to Craig WHITESIDE	1	0.02458	0.02458
No further preference	85	1.00000	85.00000
No further preference	14	0.35792	5.01088
No further preference	7	0.17109	1.19763
No further preference	17	0.06123	1.04091
No further preference	4	0.02458	0.09832
Not transferred due to rounding			0.00000
	Total		202 42472

Total 202.43173

This report contains the transfers results.

Stage 8 - Exclusion of Julie Patricia MCANULTY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to BILL SHIELDS	77	1.00000	77.00000
Transfer to Craig WHITESIDE	15	1.00000	15.00000
Transfer to BILL SHIELDS	14	0.35792	5.01088
Transfer to Craig WHITESIDE	1	0.35792	0.35792
Transfer to BILL SHIELDS	77	0.17109	13.17393
Transfer to Craig WHITESIDE	1	0.17109	0.17109
Transfer to BILL SHIELDS	114	0.06123	6.98022
Transfer to Craig WHITESIDE	11	0.06123	0.67353
Transfer to BILL SHIELDS	6	0.02458	0.14748
No further preference	120	1.00000	120.00000
No further preference	51	0.35792	18.25392
No further preference	113	0.17109	19.33317
No further preference	151	0.06123	9.24573
No further preference	9	0.02458	0.22122
Not transferred due to rounding			0.00000
	Total		285.56909

This report contains the transfers results.

Stage 9 - Exclusion of Craig WHITESIDE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to BILL SHIELDS	251	1.00000	251.00000
Transfer to BILL SHIELDS	3	0.35792	1.07376
Transfer to BILL SHIELDS	6	0.17109	1.02654
Transfer to BILL SHIELDS	13	0.06123	0.79599
Transfer to BILL SHIELDS	12	0.02458	0.29496
No further preference	304	1.00000	304.00000
No further preference	5	0.35792	1.78960
No further preference	6	0.17109	1.02654
No further preference	16	0.06123	0.97968
No further preference	10	0.02458	0.24580
Not transferred due to rounding			0.00000
	Total		562.23287